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Do not assume that countries without any magnetic declination listed (eg Norway, Romania) are 0, they are just not shown because I wasn’t going there.
You can, however, interpolate within a country which has geographicaly spaced figures.

Notes
* magnetic declination is the corrction to be applied to true north to give the magnetic north shown on your compass.

eg London = 146  true + 1½ West = 147½ on your compass           Vienna = 164 true - 3 East = 161 on your compass

** skew angle is shown relative to the lnb being vertical,   eg  London = 14 degree clockwise.
Seville   = 28 degrees clockwise (7 o’clock)
Athens   = 2 degrees anticlockwise
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